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Topic:- General English

Out of the given four sentences, choose the one which is grammatically
correct.

1. After a long career with the company, she has rose to the position of chief executive

2. After a long career with the company, she has rise to the position of chief executive

3. After a long career with the company, she has risen to the position of chief executive

4. After a long career with the company, she has rises to the position of chief executive

Correct Answer :-

After a long career with the company, she has risen to the position of chief executive

Out of the given four sentences, choose the one which is grammatically
correct.

1. The telephone have been ringing for an hour

2. The telephone have been ringing since an hour

3. The telephone have been ringing from an hour

4. The telephone has been ringing for an hour

Correct Answer :-

The telephone has been ringing for an hour

Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Season
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2. Sepration

3. Salry

4. Shedule

Correct Answer :-

Season

Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Particularly

2. Peculiar

3. Perceive

4. Patreemony

Correct Answer :-

Patreemony

DIRECTIONS: Fill in the blank with the correct Preposition.

She was an affectionate sister who took care ______ her sister.

1. by

2. into

3. at

4. of

Correct Answer :-

of

DIRECTIONS: Fill in the blank with the correct Preposition.

He talked excitedly _______ his future plans.

1. about

2. behind

3. beneath
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4. below

Correct Answer :-

about

DIRECTIONS: Fill in the blank with the correct article.

______ truth behind the events remains a mystery.

1. An

2. The

3. No article required

4. A

Correct Answer :-

The

DIRECTIONS: Fill in the blank with the correct article.

She works for a group to help ______ disabled.

1. No article required

2. the

3. an

4. a

Correct Answer :-

the

DIRECTIONS: Out of the given four options, choose the correct Conjunction
to fill in the blank given in the sentence.

He checked carefully, _______ the mistakes were caught.

1. so 

2. or

3. nor

4. either
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Correct Answer :-

so 

DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

He told us everything about the Plan.

We had agreed to keep it a secret for a while.

1. And

2. Hence

3. Though

4. Or

Correct Answer :-

Though

DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

You _______ switch off the light when you leave the room.

1. ought to have

2. should have

3. may have

4. should

Correct Answer :-

should

DIRECTIONS: Find the word which can be replaced for the given sentence.

Extreme or irrational fear of water.

1. Pollution

2. Claustrophobia

3. Hydrophobia

4. Altiphobia
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Correct Answer :-

Hydrophobia

DIRECTIONS: Find the word which can be replaced for the given sentence.

An idea or belief that is not true.

1. Calamity

2. Illusion

3. Incident

4. Poverty

Correct Answer :-

Illusion

DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. lf there is no error, mark your answer as (d)
i.e. ‘No error’.

She plays (a)/ football on Sunday, (b)/ does she? (c)/ No Error (d)

1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

(c)

DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. lf there is no error, mark your answer as (d)
i.e. ‘No error’.

Robert is (a)/ the shortest boy (b)/ in his school. (c)/ No Error (d)

1. (a)

2. (b)

3. (d)

4. (c)
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Correct Answer :-

(d)

DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘leading a cat and dog life’ in
the sentence given below?

They were so happy when they first met each other, but after ten years
together, they've started leading a cat and dog life.

1. to have a lot of pet animals at home

2. to have a life of arguments, fights, and disagreements

3. None of the above

4. to lead a peaceful and happy life

Correct Answer :-

to have a life of arguments, fights, and disagreements

DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘Bent on doing’ in the
sentence given below?

He was bent on getting married as soon as possible.

1. to have a dislike for something

2. None of the above

3. to be relaxed and lazy

4. to be determined to do or have something

Correct Answer :-

to be determined to do or have something

DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

I don't think jeans is an appropriate attire for wedding.

1. solution

2. occasion
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3. ritual

4. clothes

Correct Answer :-

clothes

DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

I went to several libraries to gather information about the plans.

1. collect

2. cherish

3. preserve

4. distribute

Correct Answer :-

distribute

DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

Tales are told about an island inhabited by a race of giants, as tall as houses.

1. huge

2. high

3. monsters

4. dwarfs

Correct Answer :-

dwarfs

Topic:- General Science

Sound cannot travel through-/ �िन िन� म� से गित नही ंकर सकती-

1. Air/ वायु

2. Water/ जल
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3. Vacuum/ िनवा�त

4. Iron/ लोहा

Correct Answer :-

Vacuum/ िनवा�त

Moustache, beard, wider shoulder, deeper voice all are the secondary sexual
characteristics of an-/ दाढ़ी, मँूछ, चैड़े क�े, भारी आवाज सभी ि�तीयक ल�िगक ल�ण है-

1. Adult girl/ �� लड़की के

2. Adult boy/ �� लड़के के

3. Adolescent girl/ िकशोर लड़की के

4. Adolescent boy/ िकशोर लड़के के

Correct Answer :-

Adult boy/ �� लड़के के

For an echo to be distinguishable from sound, the minimum time difference
is:/ �िन से एक �ित�िन को अलग पहचानने के िलए �ूनतम समय अंतराल है:

1. 0.1 sec/0.1 सेकंड

2. 1 sec/1 सेकंड

3. 0.01 sec/0.01 सेकंड

4. 10 sec/10 सेकंड

Correct Answer :-

0.1 sec/0.1 सेकंड

Food cans are coating with tin and not with zinc because/खा� पदाथ� के िड�े के
ऊपर िटन की परत होती है िजंक की नही ं� योिंक:

1. Zinc has a higher melting point than tin/िजंक का िटन से अिधक गलनांक िबंदु है।

2. Zinc is costlier than tin/िजंक िटन की तुलना म� महंगा है।

3. Zinc is less reactive than tin/िजंक िटन की तुलना म� कम �िति�याशील है।

4. Zinc is more reactive than tin/िजंक िटन से अिधक �िति�याशील है।
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Correct Answer :-

Zinc is costlier than tin/िजंक िटन की तुलना म� महंगा है।

The focal length of human eye lens is (with relaxed eye)-/ इंसान की आँख के ल�स
की फोकस दूरी (सामा� आँख के साथ) है:

1. 2.5 cm

2. 25 cm

3. 25 m

4. 

Correct Answer :-

2.5 cm

An alloy is:/एक िम� धातु � या है?

1. A homogeneous mixture/एक सजातीय िम�ण

2. A compound/एक यौिगक

3. An element/एक त�

4. A heterogeneous mixture/एक िवषम िम�ण

Correct Answer :-

A homogeneous mixture/एक सजातीय िम�ण

A cart being carried by a horse is an example of-/ घोड़े �ारा ले जायी गई एक घोड़ा गाड़ी
उदाहरण है-

1. Mechanical force/ यांि�क बल

2. Electrostatic force/ िवद्यु त बल

3. Gravitational force/ गु��ीय बल

4. Muscular force/ शारी�रक बल

Correct Answer :-

Muscular force/ शारी�रक बल
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Which of the following is a producers?/ िन� म� से कौन उ�ादक है?

1. Decomposer/ अपघटनकारी

2. Herbivores/ शाकाहारी

3. Carnivores/ माँसाहारी

4. Green plants/ हरे पादप

Correct Answer :-

Green plants/ हरे पादप

Which of the following Kingdom represents bacteria?/ िन� म� से कौन-सा जगत
बै�ी�रया का �ितिनिध� करता है?

1. Protista/ �ोिट�

2. Monera/ मोनेरा

3. Metazoa/मेटाजोआ

4. Protozoa/ �ोटोजोआ

Correct Answer :-

Monera/ मोनेरा

An electrovalent bond or ionic bond is formed between-/ एक वैद्यु त संयोजी बंध या
आयिनक बंध िकसके म� बनता है-

1. Two electropositive atoms/ दो िवद्यु तधनी परमाणुओ ंके म�

2. Two electronegative atoms/ दो िवद्यु तऋणी परमाणुओ ंके म�

3. Electropositive and electronegative atoms/ िवद्यु तधनी तथा िवद्यु तऋणी परमाणुओ ंके म�

4. Two metals/ दो धातुओ ंके म�

Correct Answer :-

Electropositive and electronegative atoms/ िवद्यु तधनी तथा िवद्यु तऋणी परमाणुओ ंके म�

Cinnabar is an ore of/ िस�र िकसका एक अय� है?

1. Hg

2. Zn
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3. Pb

4. Cu

Correct Answer :-

Hg

A method in which roots are initiated on the stem while still attached with
the parent plant is called-/ िविध िजसम� मूल �� पर िनकलती है जबिक जनक पादप के साथ जुड़ी
रहती है, कहलाती है-

1. Layering/ लेय�रंग

2. Tissue culture/ ऊतक संवध�न

3. Budding/ मुकुलन

4. Grafting/ �ाफिटंग

Correct Answer :-

Layering/ लेय�रंग

Which property of metals is used for making bells and strings of musical
instruments like Sitar and Violin?/ िसतार और वायिलन जैसे संगीत वा�यं�ो ंकी घंटी और तार
बनाने के िलए धातुओ ंकी कौन-सा ल�ण पाया जाता है?

1. Conductivity/ िविश� चालकता

2. Malleability/ आघातवध�नीयता

3. Sonorousness/अ��ा�क

4. Ductility/ लचीलापान

Correct Answer :-

Sonorousness/अ��ा�क

Cl– is the conjugate base of / Cl– संयु�ी का आधार � या है?

1. HCl

2. HOCl

3. HClO4

4. HClO3
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Correct Answer :-

HCl

When electric current is passed through acidulated water, the gases
produced are-/ जब िवद्यु त धारा एक अ�ीकृत जल से �वािहत की जाती है, इससे उ�� गैसे होती ह�-

1. None of these/ इनम� से कोई नही ं

2. Oxygen and hydrogen perioxide/ ऑ�ीजन तथा हाइड� ोजन परॉ�ाइड

3. Hydrogen and ozone/ हाइड� ोजन तथा ओजोन

4. Hydrogen and oxygen/ हाइड� ोजन तथा आ�ीकरण

Correct Answer :-

Hydrogen and oxygen/ हाइड� ोजन तथा आ�ीकरण

In electromagnetic induction, the induced e.m.f. in a coil is independent
of:/ िवद्यु त चु�कीय �ेरण म� कु�ली म� �े�रत िव.बा.बल िनभ�र नही ंकरता है:

1. Change in the flux/ �� प�रवत�न

2. None of the above/ उपरो� म� से कोई नही ं

3. Time/ समय

4. Resistance of the circuit/ प�रपथ का �ितरोध

Correct Answer :-

Resistance of the circuit/ प�रपथ का �ितरोध

Amoeba, Euglena, Giradia all are examples of–/ अमीबा, यु�ीना तथा िजयािड�या
उदाहरण है-

1. Algae/ शैवाल

2. Fungi/ कवक

3. Viruses/ िवषाणु

4. Protozoa/ �ोटोजोआ

Correct Answer :-

Protozoa/ �ोटोजोआ
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In plant cells, cell wall is made up of-/ पादप कोिशका म�, कोिशका िभ�ी बनी होती है-

1. Protein/ �ोटीन की

2. Fat/ वसा की

3. A viscous fluid/ एक �ान ��

4. Cellulose/ से�ूलोज की

Correct Answer :-

Cellulose/ से�ूलोज की

Image formed by a convex mirror is:/ उ�ल दप�ण �ारा बनने वाला �ितिब� होता है:

1. Virtual/ आभासी

2. Enlarged/ आकार म� बड़ा

3. Real/ वा�िवक

4. Inverted/ उ�ा

Correct Answer :-

Virtual/ आभासी

Which of the nine planets is nearest to sun:/ नव �हो ंम� से सूय� के सबसे नजदीक �ह है:

1. Jupiter/ वृह�ित

2. Mercury/ बुध

3. Venus/शु�

4. Mars/ मंगल

Correct Answer :-

Mercury/ बुध

Topic:- General Knowledge

Over ______ of the state’s total area is covered by forests./ _____भाग को रा�
के कुल �े�फल से जंगलो ं�ारा कवर िकया गया है।

1. 25%
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2. 20%

3. 40%

4. 30%

Correct Answer :-

30%

Other than Madhya Pradesh, the Sone also flows through:/ म� �देश के अलावा
सोन कहाँ बहती है?

1. Chhattisgarh/ छ�ीसगढ़

2. Uttar Pradesh/ उ�र �देश

3. Gujarat/ गुजरात

4. Maharashtra/ महारा��

Correct Answer :-

Uttar Pradesh/ उ�र �देश

Besides Hindi, the renowned writer and painter Amritlal Vegad also writes
in: /िहंदी के अलावा, �िस� लेखक और िच�कार अमृतलाल वेगड़ िकस भाषा म� िलखते ह�?

1. Gujarati/गुजराती

2. Punjabi/पंजाबी

3. Marathi/मराठी

4. Maithili/मैिथली

Correct Answer :-

Gujarati/गुजराती

In the Pratibha Vikas Programme, basic competencies are developed in the
languages of :/�ितभा िवकास �ो�ाम म� कौन-सी भाषा/ भाषाओ ंम� बुिनयादी द�ता का िवकास िकया
जाता है?

1. None of these/इनमे से कोई नही ं

2. English/अं�ेज़ी

3. Hindi/िहंदी



5)  

6)  

7)  

4. Both of the above/उपरो� त दोनों

Correct Answer :-

Both of the above/उपरो� त दोनों

Birha is a popular style of folk singing in the region of:/ िबरहा लोक गायन की एक
लोकि�य शैली िकस �े� से स�ंिधत है?

1. Bundelkhand/बंुदेलखंड

2. Nimar/ िनमाड़

3. Baghelkhand/ बघेलख�

4. Malwa/ मालवा

Correct Answer :-

Baghelkhand/ बघेलख�

Bhagwat Rawat is a renowned _____ /भागवत रावत �िस�______ थे।

1. None of these/इनमे से कोई नही ं

2. Journalist/प�कार

3. Poet/किव

4. Actor/अिभनेता

Correct Answer :-

Poet/किव

Where was the famous Indian craftsman Mohammed Yusuf Khatri born in
Madhya Pradesh?/�िस� भारतीय कारीगर मोह�द यूसुफ ख�ी का ज� म� �देश म� कहाँ �आ था?

1. Dhar/धार

2. Hoshangabad/होशंगाबाद

3. Sehore/सीहोर

4. Bagh/बाग

Correct Answer :-

Bagh/बाग
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Which of the following ores is/are found in Madhya Pradesh?/िन� म� से कौन-सा
अय� म� �देश म� पाया जाता ह�?

1. None of these/इनमे से कोई नही ं

2. Iron/लोहा

3. Both of the above/उपरो� त दोनों

4. Magnesium/मैगनीिशयम

Correct Answer :-

Both of the above/उपरो� त दोनों

Which of the following can be seen in the Madhai Forest?/ िन� म� से कौन-सा मढ़ई
वन म� देखा जा सकता है?

1. Tiger/ बाघ

2. Indian bison/ भारतीय जंगली भ�सा

3. Leopard/ त�दुआ

4. All of the above/ उपरो� सभी

Correct Answer :-

All of the above/ उपरो� सभी

Which of the following cities of Madhya Pradesh had a team in the World
Series Hockey?/ िव� िसरीज़ हॉकी म� म� �देश के िन� शहरो ंम� से कौन सी टीम थी?

1. Jabalpur/ जबलपुर

2. Indore/ इंदौर

3. Bhopal/ भोपाल

4. Gwalior/ �ािलयर

Correct Answer :-

Bhopal/ भोपाल

Who out of the following is a renowned painter?/िन�िल�खत म� से कौन एक �िस�
िच�कार है?
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1. None of these/इनमे से कोई नही ं

2. Kumar Gandharva/कुमार गंधव�

3. Narayan Shridhar Bendre/नारायण �ीधर ब��े

4. Both of the above/उपरो� त दोनों

Correct Answer :-

Narayan Shridhar Bendre/नारायण �ीधर ब��े

When was the Madhav Music School established by Pt. Vishnu Narayan
Bhatkhande?/ प. िव�ु नारायण भातख�े �ारा माधव संगीत िव�ालय कब �थािपत िकया गया था?

1. 1918

2. 1920

3. 1921

4. 1919

Correct Answer :-

1918

The Pashupatinath Temple at Mandsaur is located beside the river:/ मंदसौर
��थत पशुपितनाथ मंिदर के समीप कौन- सी नदी ��थत है?

1. Kahn/ कहन

2. Dhasan/ धसान

3. Shivna/ िशवना

4. Mahi/ माही

Correct Answer :-

Shivna/ िशवना

The block printers of ______ Of Madhya Pradesh create unique Batik works
on sarees./म��देश के ______ के �ॉक ि�ंटर, सािड़यो ंम� अि�तीय बािटक का काम करते है।

1. Datia/दितया

2. Bhairongarh/भैरोगंढ़

3. Gwalior/�ािलयर
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4. Mandsaur/मंदसौर

Correct Answer :-

Bhairongarh/भैरोगंढ़

The Madhya Pradesh Government has declared the year 2017 as the ‘Garib
Kalyan Varsh’ in remembrance of:/म��देश सरकार ने िकसके समप�ण म� वष� 2017 को गरीब
क�ाण वष� घोिषत िकया है?

1. Jai Prakash Narayan/जय �काश नारायण

2. Jawaharlal Nehru/जवाहर लाल नेह�

3. Pandit Deendayal Upadhyay/पंिडत दीनदयाल उपा�ाय

4. B. R. Ambedkar/बी.आर. अंबेडकर

Correct Answer :-

Pandit Deendayal Upadhyay/पंिडत दीनदयाल उपा�ाय

Through which of the following national parks of Madhya Pradesh does the
Banjar river flow?/ म� �देश के िन�िल�खत रा�� ीय उ�ानो ंम� से कौन- से उ�ान से बंजर नदी बहती है?

1. None of these/ इनमे से कोई नही ं

2. Kanha Tiger Reserve/ का�ा टाइगर �रजव�

3. Bandhavgarh National Park/ बांधवगढ़ रा�� ीय उ�ान

4. Madai National Park/ मादई रा�� ीय उ�ान

Correct Answer :-

Kanha Tiger Reserve/ का�ा टाइगर �रजव�

The present Madhya Pradesh state is spread over an area of about _____
lakh Ha./वत�मान म��देश रा� ______ लाख हे�ेयर �े� फल म� फैला �आ है।

1. 502

2. 470

3. 425

4. 308

Correct Answer :-
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308

Where has Madhya Pradesh state's first Biomethanation Plant been
inaugurated/ म��देश का सव��थम बायोिमथेनेशन कारख़ाना का उदघाटन कहाँ �आ है?

1. Morena / मुरैना

2. Bhopal / भोपाल

3. Gwalior / �ािलयर

4. Mandsaur / मंदसौर

Correct Answer :-

Bhopal / भोपाल

Sunil Kewat is related to which sports?/ सुनील केवट की खेल से स�ंिधत है?     

1. Football/ फुटबॉल

2. Cricket/ ि�केट   

3. Kayaking canoeing/ कयािकंग-केनोइंग    

4. Hockey/ हॉकी     

Correct Answer :-

Kayaking canoeing/ कयािकंग-केनोइंग    

On which of the following rivers is the Gandhi Sagar Dam built?/ गांधी सागर
बांध का िनमा�ण िन� म� से िकन निदयो ंपर िकया गया है?

1. Narmada/ नम�दा      

2. Betwa/ बेतवा

3. Halali/ हलाली      

4. Chambal/ चंबल       

Correct Answer :-

Chambal/ चंबल       

Topic:- General Hindi

‘ज़मीन-आसमान एक करना’ मुहावरे का आशय है :



1)  

2)  

3)  

4)  

‘ज़मीन-आसमान एक करना’ मुहावरे का आशय है :

1. ब�त हलचल मचाना

2. अ�िधक �यास करना

3. दुिनया छान मारना

4. उ� सभी

Correct Answer :-

उ� सभी

‘नकुल’ श� का अथ� नही ंहै :

1. कुलरिहत

2. िशव

3. नेवला

4. कौ�ेय

Correct Answer :-

कौ�ेय

‘उभयालंकार’ भेद है :

1. श�ालंकार और अथा�लंकार का

2. श�ालंकार और अथा�लंकार म� से िकसी का नही ं

3. श�ालंकार का

4. अथा�लंकार का

Correct Answer :-

श�ालंकार और अथा�लंकार का

‘Automation’ का िहंदी पा�रभािषक श� है :

1. �चालन

2. मोटर संबंधी

3. �ाय�-सं�थान



5)  

6)  

7)  

4. �ाय�-तं�

Correct Answer :-

�चालन

‘उ�ूलन’ का िवलोम श� है :

1. उ�ोचन

2. रोपण

3. मोचन

4. उ�ुख

Correct Answer :-

रोपण

‘स��त’ पद म� समास है :

1. ब��ीिह

2. त�ु�ष

3. उ� सभी

4. �ं�

Correct Answer :-

उ� सभी

‘नैयाियक’ श� म� ��य है :

1. इक

2. ियक

3. याियक

4. ईक

Correct Answer :-

इक

‘यिद वह आता तो म� चला जाता’− वा� है:



8)  

9)  

10)  

11)  

‘यिद वह आता तो म� चला जाता’− वा� है:

1. आ�ासूचक वा�

2. इ�ासूचक वा�

3. िवधानवाचक वा�

4. संकेताथ�क वा�

Correct Answer :-

संकेताथ�क वा�

‘पृ�ीराजरासो’ है

1. उप�ास

2. महाका�

3. खंडका�

4. नाटक

Correct Answer :-

महाका�

‘नारी’ श� का पया�यवाची है :

1. भािगिनका

2. मादा

3. कांता

4. माया

Correct Answer :-

कांता

‘अब वह थोड़े ही काम करेगा’− वा� है :

1. िनषेधपरक संरचना

2. िवन�तासूचक संरचना

3. िविधसूचक संरचना
कारण-काय� संबंध संरचना



12)  

13)  

14)  

4. कारण-काय� संबंध संरचना

Correct Answer :-

िनषेधपरक संरचना

‘बारेली’ बोली िकस जनजातीय समूह से संबंिधत है :

1. भील

2. कोरकू

3. गोडं

4. बैगा

Correct Answer :-

भील

‘बहादुर’ श� है :

1. त�म

2. िवदेशी

3. त�व

4. देशज

Correct Answer :-

िवदेशी

‘महिष�’ म� संिध है :

1. गुण �र संिध

2. �ंजन संिध

3. िवसग� संिध

4. दीघ� �र संिध

Correct Answer :-

गुण �र संिध

14 िसतंबर, 1949 म� भारत की संिवधान सभा �ारा िहंदी को मा�ता दी गयी :



15)  

16)  

17)  

18)  

14 िसतंबर, 1949 म� भारत की संिवधान सभा �ारा िहंदी को मा�ता दी गयी :

1. िवभाषा के �प म�

2. मानक भाषा के �प म�

3. रा�� भाषा के �प म�

4. राजभाषा के �प म�

Correct Answer :-

राजभाषा के �प म�

िन�िल�खत म� भोपाल से �कािशत पि�का है :

1. अहा िज�गी

2. सरस सिलल

3. ईसुरी

4. जा�वी

Correct Answer :-

अहा िज�गी

िन�िल�खत म� िवलोम श�-यु� नही ंहै :

1. पीयूष-कालकूट

2. रथी-िवरथ

3. िव�ु�-�शांत

4. नायक-अिधनायक

Correct Answer :-

नायक-अिधनायक

िन�िल�खत म� शु� वा� है :

1. तुम तो अव� ही जाओगे।

2. चरखा कातना चािहए।

3. यह किवता अनेक भाव �कट करती है।
मुझसे यह काम संभव नही ंहो सकता।



19)  

20)  

1)  

4. मुझसे यह काम संभव नही ंहो सकता।

Correct Answer :-

यह किवता अनेक भाव �कट करती है।

िन�िल�खत म� शु� श� है :

1. �नाम

2. पु�

3. पुव�

4. िवभीिषका

Correct Answer :-

िवभीिषका

िन�िल�खत म� समो��रत िभ�ाथ�क श�-यु� नही ंहै :

1. अणु-अनु

2. चाय-कॉफ़ी

3. उपे�ा-अपे�ा

4. अंत-अं�

Correct Answer :-

चाय-कॉफ़ी

Topic:- General Maths

DIRECTIONS: Find the wrong term in the given number series:/िनद�श: दी �ई
सं�ा �ेणी म� गलत पद �ात कर�।

12, 11, 18, 45, 196, 795, 4734

1. 196

2. 795

3. 45

4. 18



2)  

3)  

4)  

Correct Answer :-

196

Each interior angle of a regular polygon is 140°. The number of sides is:/एक
समब�भुज का �� येक अ�ःकोण 140° है, तो उसके भुजाओ ंकी सं� या होगी:

1. 8

2. 6

3. 9

4. 5

Correct Answer :-

9

If A and B are in the ratio 3 : 4 and B and C in the ratio 12: 13 then A and C
will be in the ratio:/यिद A और B का अनुपात 3:4 तथा B और C का अनुपात 12: 13 हो, तो A
और C का अनुपात होगा?

1. 7: 13

2. 9: 13

3. 13: 11

4. 11: 13

Correct Answer :-

9: 13

From two places, 60 km apart, A and B start towards each other at the same

time and meet each other after 6 hours. Had A travelled with  of his speed and
B travelled with double of his speed, they would have met after 5 hours. The
speed (in km/hr) of A is:/ 60 िकमी. की दूरी पर ��थत दो �थानो ंसे A तथा B एक ही समय एक-

दूसरे की ओर रवाना होते है तथा एक -दूसरे से 6 घंटे बाद िमलते है| यिद A अपनी चाल की  तथा B अपनी
चाल की दोगुनी चाल से चला होता, तो वे एक-दूसरे से 5 घंटे बाद िमले होते| A की चाल (िकमी./घं. म�) है:

1. 4

2. 6

3. 12



5)  

6)  

7)  

4. 10

Correct Answer :-

6

Two years ago, the ratio of the ages of A and B was 3:4 respectively and
after 4 years it will become 4:5. What is the present age of B. / 2 वष� पूव� A और B
की आयु का अनुपात �मशः 3:4 था और 4 वष� बाद उनकी आयु का अनुपात 4:5 हो जाएगा| B की वत�मान
आयु �ा ह�?

1. 25 years/ 25 वष�

2. 26 years/ 26 वष�

3. 27 years/ 27 वष�

4. 32 years/ 32 वष�

Correct Answer :-

26 years/ 26 वष�

The roots of the quadratic equation 2y2 + 19y + 44 = 0 are:/ि�घात समीकरण 2y2

+ 19y + 44 = 0 के मूल है:

1. -4, 

2. 4, 

3. 11, 8

4. -11,-8

Correct Answer :-

-4, 

An isosceles right-angled triangle has an area 1250 cm2. What is the length
of its base?/एक समकोण समि�बा� ि�भुज का �े�फल 1250 सेमी2 है, तो इसके आधार की लंबाई �ा
होगी?

1. 40 cm/ 40 सेमी

2. 60 cm/60 सेमी

3. 50 cm/50 सेमी



8)  

9)  

10)  

4. 65 cm/65 सेमी

Correct Answer :-

50 cm/50 सेमी

The average age of 36 students in a group is 14 years. When the teacher’s
age is included in it, the average increases by one year. The teacher’s age in
years is:/36 छा�ो ंके एक समूह की औसत आयु 14 वष� है। जब उसम� िश�क की आयु शािमल कर दी जाती
है, तो औसत एक वष� बढ़ जाता है। िश�क की आयु िकतने वष� है?

1. 31

2. 51

3. 36

4. 50

Correct Answer :-

51

The sum of first 20 odd natural numbers is equal to:/�थम 20 िवषम �ाकृितक
सं� याओ ंका योग बराबर है:

1. 300

2. 210

3. 400

4. 420

Correct Answer :-

400

A train running at  of its normal speed reached a place in 22 hours. How
much time (in hours) could be saved if the train had run at its normal speed?/

एक रेलगाड़ी अपनी सामा� चाल की  चाल से चल कर िकसी �थान पर 22 घंटे म� प�ँचती है| यिद
रेलगाड़ी अपनी सामा� चाल से चली होती, तो िकतने समय(घंटे म�) की बचत होती?

1. 8

2. 16



11)  

12)  

13)  

3. 7

4. 14

Correct Answer :-

8

DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ िनद�श: िन� निल�खत �� न म� �� नवाचक िच� ह (?) के � थान पर � या आना चािहए?

 + ? +  +  = 20

1. 

2. 

3. 

4. 

Correct Answer :-

DIRECTIONS: What should come in place of the question mark (?) in the
following series?/िनद�श: िन�िल�खत �ेणी म� ��वाचक िच� (?) के �थान पर �ा आना चािहए?

4, 5, 9, 18, 34, ?

1. 58

2. 59

3. 52

4. 42

Correct Answer :-

59

Wages for 45 women amount to Rs.15525 in 48 days. How many men must
work 16 days to receive Rs.5750, the daily wages of a man being double of



14)  

15)  

those of a woman? /45 मिहलाओ ंकी 48 िदनो ंकी मजदूरी �पये 15525 है। िकतने पु�ष 16 िदनो ं
तक काय� कर�  तािक उनकी कुल मजदूरी �पये 5750 हो, जबिक पु�ष की दैिनक मजदूरी मिहला की तुलना म�
दोगुनी है?

1. 40 men/40 पु�ष

2. 25 men/25 पु�ष

3. 35 men/35 पु�ष

4. 30 men/30 पु�ष

Correct Answer :-

25 men/25 पु�ष

The price of an article has been reduced by 25%. In order to restore the
original price, the reduced price must be increased by:/एक व� तु का मू� य 25%. कम
कर िदया गया है। यिद उस पर पहले वाला मू� य दोबारा लागू करना हो, तो कम िकए गए मू� य म� िकतने �ितशत
वृ�� करनी होगी?

1. 33 %

2. 33%

3. 25%

4. 30%

Correct Answer :-

33 %

3 men and 4 boys can earn Rs.756 in 7 days. 11 men and 13 boys can earn
Rs.3008 in 8 days. In what time will 7 men with 9 boys earn Rs.2480? /3 पु�ष
एवं 4 लड़के िमलकर 7 िदनो ंम� �पये 756 कमाते है। 11 पु�ष और 13 लड़के िमलकर 8 िदनो ंम� �पये
3008 कमाते है। िकतने समय म� 7 पु�ष एवं 9 लड़के िमलकर �पये 2480 कमा पाय�गे?

1. 8 days/8 िदन

2. 20 days/20 िदन

3. 15 days/15 िदन

4. 10 days/10 िदन

Correct Answer :-

10 days/10 िदन



16)  

17)  

18)  

A man invested Rs.50, 000 at simple interest in the three parts one third at
6% p.a. one third at 7% per annum. At what rate must he invest the remaining
amount so that he earns 8% interest per annum on the total amount?/एक आदमी
�. 50,000 को सा. �ाज की दर से िनवेश करता है। वह एक ितहाई भाग 6% वािष�क �ाज की दर से तथा
एक ितहाई भाग को 7% वािष�क दर पर िनवेश करता है| तीसरे भाग को िकस दर पर िनवेश करे तािक कुल धन
पर 8% वािष�क दर का �ाज �ा� हो?

1. 12%

2. 9%

3. 11%

4. 10%

Correct Answer :-

11%

Luis sold his work tools for 1,850 and earned a profit of 25 per cent. At
what price did Luis buy the work tools?/लुइस अपने काय� के उपकरण को 1,850 बेचा तथा 25
�ितशत का लाभ �ा� त िकया। लुइस ने िकस मू� य पर वह उपकरण खरीदा था?

1. 1300

2. 1480

3. 1360

4. 1240

Correct Answer :-

1480

The LCM of two numbers is 60. The numbers are in the ratio of 4 : 5. The
sum of the numbers is?/दो सं� याओ ंका ल. स. 60 है। सं� याएं 4 : 5 के अनुपात म� ह�। सं� याओ ंका
योग है?

1. 27

2. 32

3. 64

4. 28 

Correct Answer :-



19)  

20)  

27

Find the smallest of the following fractions./िन�िल�खत िभ�ो ंम� से सबसे छोटी िभ� न
�ात कर�|

1. 

2. 

3. 

4. 

Correct Answer :-

Find the largest of the following fractions./िन�िल�खत िभ�ो ंम� से सबसे बड़ी िभ� न �ात
कर�|

1. 

2. 

3. 

4. 

Correct Answer :-


